5]u[2022
Wo AWl Sof ngmp\ex \ npedS
#7) fg:i_ [Votes Mulﬂo\j poun
34 dan. by Complex
Cpnuaoht —3-H
dé =

- S—




W

J

MW&“ on. PUT sl nC/Q

we oxe Vookind foC o feumth | This
Can only e @os g, we only
Pansioly L @@g\%wq g%mw
ok > 50=hyp

Tv‘owﬂ

(’LSS IQ'CAM/\&OL L(n > Usin %‘L

U\wf@, “OoY Pro Q)\
¢ U <o\ ¢ %Lm&m ka

eg notdbns

“Y



Sguore Koot @mp@kf\(j .‘
I T8 s o real numloe €
awnd & o=l Then =2 1b .

Sy SoW 2_\ &
S Sove 7=t & L
=7
=13
=z
o, s () = 2. e I
Z %&CL)\Q f0@+
4+ |\ OP@\W




Ex Zolue N ez (e
CQXVD} =-1b AR
:Z‘L{ CL“H
Q%’S; :\: -6 |
4 >
Qx5+ e ox-5=- 11
,‘ =54
Ax =527 =
7z ga
5 \ 5. Qv
\X: Q%Ql K ><_ 2 AN
Lo - Mese and Lompbes
NO %Rgm%ﬁﬁb\y \O

Ty Sve  (Bxo1y =+ = Nofe

S[elutoo |
S ol \Oj ' onngleting The S%Ucu@“

| D) /U—/
ot Save P“r 9@:% oEtbx =0




Tatke The nopMicient b and.

cﬁwtc&mvi + by 3 >then
Siese ShW\Q \{QS(LH’ (M\o&
x ot Jolue +0 bo

= (oloS he @%MC’L onN | ZE
1=

AT
CPH> =0 é/@cm USY
Ty sguart

P‘\V \ = = E (0ot ?ﬁv@@@\
——iiis o She ot

Ey Solve L F Y =) \OT\L\Q)QJMQ\QM/E

© SQ UL



@Ar@;; '+ Voot 0
a

=2 I3 8

| X= 42

Solye I =FM=1=0

+ 0+
stepl
m=-4+Mm=_1




